| number of missing inner layers | number of missing outer layers
missing_inner_layers missing_outer_layers
lE Entries 666 1g T Entries 666
E Mean 1.622 E : Mean 0.8889
F Std Dev 1.333 I : Std Dev 1.631
10_1 §_ 7 mllsslng;lnnerilayers 10_1 §_ = " b mllssmg;uuter;\ayers
= Entries 484 = Entries 484
r Mean 1.523 r Mean 1.43
Std Dev 1.255 Std Dev 1.828
1072 T 1072 NS
E missing_inner_layers E missing_outer_layers
o Entries 490 o Entries 490
3| . I mean 1527 3| Mean 1.471
10 Std Dev 1.265 107°F Std Dev 1.842
E . E | I
I missing_inner_layers o missing_outer Hw\a
—4 L Entries 488 —4 L Entries 88
10 E Mean 1.533 10 E Mean
= Std Dev 1.269 = Std Dev 1.832
10°F 10°F
o'l()IGL""I""I""I'”'I""I' N P PR P P 'IO':-@J""I""I""I""I""I'”'I"'I' T
0.9 ;—
0.8F
0.7k S :
0 8 9 10 7 8 9 10
—— SSW_CKTPUSU _ RECO
=== DQM_V0001_R000000001, Global CMSSW_mkFitPU50__RECO
mean hif| === DOM V0001_R000000001__Global_CMSSW_mkFitPU50LowPtQuad__RECO
= DOM_V0001_R000000001 _Global__CMSSW_mkFitPU50LowPtQuad-noBkwd__RECO
— 40 C 2 Entries 666
» I 10°E
= o
A -
A 35F
= N
% - Entries 484
I R - = o | Mean 13.94
30 Std Dev 3.111
: R
25 o hits
- | | Entries 490
r 10 F ] Mean 13.89
r [ Std Dev 3.131
20 - terheeniife.... 1
C I - hits
- | | Entries 488
r Mean 13.89
15- ol e ey | Std Dev 7
10
3] 3=
3 IS
@ @

track n

num_simul_pT

Entries 137399
Mean 2.105
5.962

Std Dev

num_simul_pT

Entries 137153

Mean 2.109

Std Dev 5.975

: I

num_simul_pT

tries 137323

Me: 2.105

Std Dev 5.948

num_simul_pT.

Entries 137225

Mean 2.104

td Dev 5.948
010B— ;
= [ :
el
o +H+l[l

+I 11T

0.95 T * * '2 3
10 1 10 10 10
TP P

[Nofreco track vs pT |

track hits

num_reco_pT,
Entries 823
r Mean 3.985
1 Std Dev. 6.334
107 g :
E . num_reco_pT
N Entries 592
> : Mean 4.357
1077 i $td Dev 7.833
E : : |
I . num_reco_pT
B . 599
-3 .
10 E =~ :
B num_reco_pT,
10_4 E " H Entries 597
E . Mean 4.435
= 1 Dev 7.891
-5
107 e e
0107%F
=T Y S SRR NP &
s 12[
o o
i
0.8F+----n-
= 3
0™ 10

track P,



	Contents
	Page 1


